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(b) 5 n'tanuxattu lnf ) ln{“CdtP thﬂ PTC"H&H- ﬂlf il nn!qp f oy Iu"h nu{ﬂﬁtllﬂ"’ = . ! |

1L company recc:wer orders a4 fo! |
as u!r;w : 50, 40, 30, i .

assembly ‘A, B, C, D, E respectively where - ' 203, 15 units for - h falicwing

components. Tabulate tha ulan

C-‘I unit contzins iC0, 20, 70, 50, and 60 dn:E.rE"t
2(2) Three machma...

Tor mﬁnu{acnnln#A D,C D

ﬁ " C are urpd u-g ; .md E as sermblies. .
Hrs). 7 R pr(}ceq 5“‘ Pmdwhmwn in the table kelow: (Time in
S 8 _ | C %

5 . . &‘? ' L !‘;F_ '
3 : 1§ - 5 - t
Sy n e s b | ] e T ko 40 F B, :
LB Wk e L N IIT . -
Using Juhnsnn s.rule tn-ind?ate'?.-hé mqﬁ*i,;E}f;ﬂnnr‘_;ﬂ{::.Eeqﬂencg--in which the machines cen procass
-the Dmducts. SRR 1 AR L e e kS S |
(b) Based on your sequenre srﬂedule t{'\t'* pvrﬁdi'ci’s using th e Grantt fof one week assuminz hours
of work from ivionday 1o S:—':turm*; i5 Hﬂ- m ‘m EEFZ\F 'er Jih Lrezk w‘ ;\,r, 1;--.-3%: LfMtc ?_Pm.'{i‘-.:‘._-zedt:‘.z'
~onlyformachines AangBY 1 o oo LT

: . : : ; ) = ML" 5
{a} n 13'9'{51.1* design, Proces 5 E?g'ﬁf”t ic p "~';* ".fp* ’ *'i 2y nte bf'i: Hsnis. & P}.ﬂmem. Ccmrne*‘lt.

(”] Praduct layout is I‘lDi‘ Tl thlp iaux rigis and thls crtq?aﬁ.aﬁmb%em. Cmﬂmﬁ.nt --" e A Re

IS .__.._.,'-—-

{c) State the advant -.aﬂe;. of irﬁéﬁaumut over pmdum i"i"y""ﬂ.it

N _iE e

LR e -k e _ _|.|.
""-u-, K .

4(a) It takes a !athe 30 mins a_n chhirﬂ 3 wnrkp:pce ?nd a mnhnw m'tc.h!nt. alsn 30 vmns, | dnllmg

. machine 15 mins and a weld:ng machme A0 myins: o reduw idie t-me how man\; mul*nﬂ machines,

. 5{a) Sketch the *hree Cnmpmnen* Cmt anel I%a f]"' Qu:nuwfuwd with E;s‘:.;:;dateﬂ

(c) State the impnrtance nf Wcark-in—prngrr-ss Ina rnmpmgr nmlﬂng uphu\sterv chmrs.

fdrllhng machmes and we!dmff machmes waulu accﬂmﬁny 4 !atrte machmes in the geb?
{b) State the assumptmns made in a“fa} aliove.
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{c) Questmn 4(3} abnve IS a S!FNJIE tt ,er':';fer lme. W‘*ai actmn wﬂl Han:ake when the ttmes fur '

- various proces seschange? A ST R L

1 tutaii.cust_ anﬂ ",
fU”VlEbE“t e w P PR N kg | N B I
{b) The Tatal Cnst Equ at!an giuan as 4()'-1—9—0—— f+1 , whéré ti‘}, is*i.iuzirititgr; the inuﬁnmw ;;'_sj;'a'rge 1850

-'h-‘

'dnllars and set up cost 10 doliara. Calruhtﬂ the Ea_.m:}rmc ”‘truer Quani:itq [E(}Q‘] ol

6{a) Make a sketch to indicate & fixed urdﬁr ﬂunntt-v lnux.ntur\; mmagement

6(b) Malce ahother !{etch *u mdacate 2 ‘h.«t&u urtn_r wru:: mwnaﬂement t.-f hwentow (Lahal bﬂth

sketches) B e i
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__ - IPES02_PRODUCTION PLANNING AND CONTROL - _- TIMEJLL_QWED 3HRS
ON:__  ANSWER FIVE QUESTIONS | '

FWE jobs 1 2,3,4 andS must be DI'DE:..SSEG -:::n each nf th ree mc;chmea A B & f‘
_in-that nrder Pmcess tHTIEE are given |n the table below. - -

i ] »];*,~"1“1 '_";_Tf | 1'-' T 3oms -

i-.t e el - T N . >

‘T T .- MachineA .. 5 . 4 2 R 6

Lo, mommepessy s Maching B 2 32— 3] s s+
Machine C 8 2 7 s s '5 F s o

3/ Use Johnson’s Rule tu determine the best sequence for the five mes
Use GANTT chart to show an npt:mum schedule for the jobs..

- We have the fnlluwnng data for an itern we ,Jurchase regulariy annual reqmrernenta

=10,000 urits; order preparation cost = N"’SD lnventury huldllng cust = NlDD per unit -
per year. : . | | :

1
=F . TP s 5
e LT L =l

'

| o '_ _' - a.. Calculate the ecanumlc order quantuy {do nnt make any assu‘mphuns)
g | £ % b Calculate the number. of orders that must be placed. each 1y-.ear

Calculate the annual cost of piarlng orders.

The set up cost (urdenng) ﬁ::r a cmnpnnent is given as {ZUDUJ"BQ - ED} ahd the -
invenior: cost is given as: 1._!.,,: % & )B;, vhare Q Qua ntity ordered. If the constant cost

EE BTN _ Ecnnnmlc order quantlty (b ) Tﬂta!, cnst at ecnnﬂmia ﬂrder quantlt‘,r |
& i _C/ﬁn a sketch md:cate the three components of the. total cost and label ciaariy ~

| '4_-1_ (a.)- Dn a chart only 1Huztmte the principle of fixed order quantity mventgry mndel were -
- . \EBQ,=50; lead time = 1 day, Reorder level =25 and buffer stock =5 =
f Py . (b.) On another table generally mrjlcate the pnncuple of ﬁxed ﬂrder cycle inventory .
. L - . L Labet: Order Quanttty, review pﬂnud buffer: stﬂch: and IEacI tlme P
© {¢,2 Using a sket::h only to indicate the ABC analysis. Label clearly, S

5 'A manufactunng company receives the fni!nwmg urders SDD 400 200, 200 150 t::f A B
.~ 'C,D and E assemblies respectively. Numberﬂf cumpnnents in A, B C,DandE aI'E‘. =

"*100,80,75, 50 and 60 respectively.
: ---a'. ‘Tabulate the manufacturing p!an T r 5
b ~If-each unit of A,B,C,D and E take Z0, 50 45,60 and 30 hnurs respactwely to machlne

" and assemble mdu:ate tabularlv hﬂw many hnurs it wauld take tn execute the
oy s o, HOROEES, -
iy B 'I(a) Make a dlagram to :Hustrate quauing and % capac:ty utihzatlnn
.~ (b) A Iathe takes 45mins tu machine a component;.a milling.machine takes 3{Jmm5 a.

| ;'--'_-'dnihng machme takes 20 rnms and a weldlng machine takes 15mtns tc: machme the
- same component. -

-7 Given 2 lathes to dd the ]ﬂb huw many mlthng, dnlhn and weldm ach 4 .
h “engaged with. the two lathe machines?. © — g ;g m' m.e wuuld be

(c) Cnmment appmpnately nn "your answers to ﬁ(b) abave

.. .m.h-..m_‘___ .
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1. (a) Explain the least square method of forecasting.
(b) What are the limitations of moving average method?

2. (@) Star papers Ltd uses simple -exponential with smosthing conctant of 0.4 #a ferersst  —  jes.
gemar}d. Tfm forecast for October was 315 units and the actual demand turns cut to be ass
200units. November and December demands were 350 and 400 units respectively, rorecast m.
the sales for January.

el e e meEs EE | | : -
3. (@) A company is engaged in the assembly of an item. The information regarding assembly ¢
~7 " "steps and precedence relationship is given: below. Find the minimum number of work .
stations, halance delay and line efficiency. |
| G.0%
03
0.32 0 :
~
N\ Ls) &
385 /ﬁ ~
U.l// .05 =
) . - '-
) | 5 @ o 5 ' tock level,
3 : - ceatures of upper stock level, lower s
4. Using a well iabelled sketch, illustrate the fea . _ : .
Using f duction planning for a named process

reorder level, and indicate their significance %0 pro

=

elements of production planning and control.

entify the seven main ) :
5. (3) Identify the “the impact of any. five main elements identified above.

~ (b) Write short notes on the

- jecti ' | d Contral.
Enumerate the objectives of Production Planning an rol. _—
> EE; eri]ow would you apply work study techninies In the ‘management of any n

production planning operatior:? | | _ _
?c) Clearly c?utline the process fiow in such operation and the associated risk.

7. What is production programming? Using any specific industry, explain “reliable delivery” 1O

the customer.
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I the “&ﬂ“ﬂﬂ factor of 0.5 is used, forecast the sales for the next Lo years

= £-\ ‘fi"
. a) Define; |, d-ﬁn capacity, System capacity, i, Installed capacity, v, Licensed capacity,

b) The lead time to procure the raw material from a supplier is 4 weeks, The present stock is 54 l‘lﬂ‘ the rratefisl, Sy

Ther: Is also a scheduled receipt of 45 kg of it in 4 weeks, The production requirements over the period of neA 9
weeks are;

. [Week iy -1 T i S W T
.\ |Amountrequiredikg) (24 |- (20 |11 |- |5 [ |z7__|1

Order quantity is 45 Kg. find the planned order releases,

ks = bl

'E;. &
3. a) A company wishes to assign 4 salesman to 4 deports, The volume of sales matrix is given W m the optimal

3 assignment which mult in maximum volumes of sales,

% 4 Deports _
v St Salesmen iR AR B N E . SN {
] g, 300 420 [ 700 b

| 2 , 400 [ 3200 0 250
'I B3 375 £ 400 350
| 4 350 420 300

b! ‘H'Iere are four machines W, x, Y,and Z. Thr | jobs A, B, and C are to be assigned to 3. < s
madﬂ““-"' T“B cost of aﬁsimment is given oeloy Find out the optimal asﬂgnmmt,
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